
TMEDAU-OM.AT#I-
LECTURE 3



GOALS OF TODAY 'S LECTURE :

Theorem: Given a timed automaton A , we can construct a finite
-

automaton for Untime CLCAM

Unlined ) ) :
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Naive construction :
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Moral :
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the state
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Step Eon : can we perform the
"

naive construction
"

on Ss ?

- Suppose in every transition . so ,
we erase

the time component .
a

•- o

- will the resulting
"

unlined
.

automaton with infinite States
"

accept tontine Kesh ? Yes .

Un time - Sa : same States as SA .

Thons : ( 9 , re) A- (q, , re ,)
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Step Question : can we perform the
"

naive construction
"

on Ss ?
-

- Suppose in every transition . so ,
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Steps : clubbing valuations together

""" "

"

If the Suffix languages are same , we can dub them together into
a single state .

Goal : define an equivalence between valuations so that equivalent valuations
-

have the same suffix language .
-

Neighbourhood equivalences a. b

-
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